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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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XX6

BYE) | GEBERTIC (B)) | M= (EAH/#K) | XS EFE

02:05 80 20.0 |Z = ;Ri&@02:05 (kB{EREE)
03:05 80 20.0 1] ;1%@03:05 (RFERES)
07:20 80 20. 0 i FEA@07:20 (K AIERESE)
08:15 80 20. 0 i FnEA@08: 15 (KAL)
09:50 80 20.0 i FiH@09:50 (KRFfERHE)
10:55 80 20.0 i FEA@10:55 (KRAIEREE)
11:50 80 20.0 i FEA@11:50 (KRAIERSE)
12:40 80 20.0 i FnHR@12:40 (REEREE)
13:30 80 20.0 i FiHR@13:30 (KRFERLEE)
14:35 80 20.0 i Fnfe14:35 (REERSS)
15:50 80 20.0 i ¥iEA@15:50 (KAERSE)
21t 880.0 (11)%) 220.0 3EGHKEC: 1023. 0000000000001, PH: 6.9

unusual large postFgEt from yesterday (73), set to 60.0 ml.

ElI;#%PH (7.33) 1®{K
AR i B RECE IR fR 2k .

7 [ERECE (930. 0 vs 3696.0) 45
REREBT I HEREC/PHELER L, AIRERMIFRELR R
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XX6

BfiE) | EBIETK (D) | E=E (EH/K) | XK EFE

06:55 171 20.0 i B1%@06:55 (KRFERE)
07:40 171 20.0 i BR1%@07:40 (KPBIEREE)
09:05 171 20.0 i BRi&@09:05 (KRFERE)
10:00 171 20.0 i ’R1%@10:00 (FKPHIERLEE)
10:50 171 20.0 i B3i1%@10:50 (KREERZE)
11:35 171 20.0 i Bige11:35 (REERSE)
12:25 171 20.0 i 1Ri%e@12:25 (K BERKS)
13:05 171 20.0 i Bi1%013:05 (KREEHE)
13:45 171 20.0 i Bi%@13:45 (RFEREE)
14:25 171 20.0 i Rige14:25 (kKAHEREE)
15:10 171 20.0 i BRi&@15:10 (FKPBIERE)
16:05 171 20.0 i RR1%@16:05 (FKRAER)
Bit] 2052.0 (12%) 240.0 3EHKEC: 1811.7, PH: 6.9

HREYERESTEAEARTST (53.0 : 40.0), ARE/kREERE
EORGEB AT R IR FE R (172 vs 87.0))

ZRIASERRIERE40. 0 ml.

HEEKECE (2013.0 vs 3938.0) 15
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XX6

BYiE) | GEBERTIC (B)) | EME (EAH/#K) = ERE

07:50 170 20.0 S ’Ri&@07:50 (kB{EREE)
08:40 170 20.0 53] BRi&@08:40 (KRFERE)
09:40 170 20.0 ] RR1%@09:40 (FKPHIERLEE)
10:25 170 20.0 i B31%010:25 (KREERZE)
11:15 170 20.0 i Bige11:15 (REERSE)
12:15 170 20.0 i Bige12:15 (REERSE)
13:00 170 20.0 i ;Ri&@13:00 (kPB{EREEE)
13:40 170 20.0 i BRi%@13:40 (REERES)
14:25 170 20.0 i Rige14:25 (kKAHEREE)
15:20 170 20.0 i BRi&@15:20 (FKPBERE)
E4t]1700.0 (10%) 200.0 3 WHKEC: 2428. 2000000000003, PH: 6.6

LGB R EE TR/ (0.08 vs 0.33), FIRER X HREESEEEESKERE
MEREHERE SMEEART (10.0 :

LORGEBETCRIZFERI I (132 vs 91.0))

2RI\ SLPRIERE29. 0 ml.
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FH[ERECE (2698.0 vs 4167.0) RS

29.0), AIREKREERE




XX6_0, Day=170.0 (2025-04-14)
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XX6

BriE) | EBIATK (FD) | EBE (EH/HK) | XK ERE

08:15 170 20.0 S B3i1%@08: 15 (KFEHE)
09:15 170 20.0 S BR18@09:15 (KRFERLES)
10:15 170 20.0 S Ri%@10:15 (RAAERLEE)
11:55 170 20.0 = Ri%@11:55 (RAERES)
23t 680.0 (4%%) 80.0 3253 KEC: 1715.4, PH: 6.9

MRV ERESTEAEARTST (53.0 : 37.0), ARE/KkREERE
EORGEB AT R IR FE R (170 vs 91.0))

ZRIASERRIERE37. 0 ml.

[El;REC 4444.0 K5, ZEiLFAKECAE & hEE R

HEERECE (1906. 0 vs 4444.0) 35



XX6_0, Day=169.0 (2025-04-13)
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